5.1 Sinus, Kosinus dan Tangen bag
Sine, Cosine and Tangent of AC
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I.  Rajoh menunjukkan sebuah segi tiga bersudut tegok.
Cari nilai sin 8. )
Diagram shows a right-angled triangle. Find the value
of sin 6.
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2. Diberi niloi sin 8 = 2, hitung panjong sisi x.
Given the value of sin 6 = —;—, calculate the length of x.
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3. JKL ialah sebuch segi tiga bersudut tegak. Diberi nilai
sin 6 = 0.27, hitung panjang JK, dalam cm.
JKL is a right-angled triangle. Given the value of sin
8 = 0.27, calculate the length of JK, in cm,
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4. Dalom rajoh, QRT ialoh garis lurus. Diberi QR = g7

3 ;
= = cari nilai sin y. ‘
ﬁ;ugi:gr;m,lbﬂr is a straight line. Given OR = RT ang

sin x= %, find the value of sin y.
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5. PQR iclah sebuch segi tiga bersudut tegak. Nyatakan

nilai kos 6.
PQR is a right-angled triangle. State the value of cos 6.
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6. Dalom rajoh, JKL ialah sebuah segi tiga bersudut
tegak. Diberi kos 6 = . Hitung nilai «
I diagram, JKL is a right-angled triangle. Given
€0s 6 = 7. Calculate the length of .
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7. Dalom rajah, ABC ialoh sebuah segi tiga bersudut

tegak. Hitung nilal kos 6, + kos 6,.

n dia?mm. ABC is a right-angled triangle. Calculate

the value of €0s 0, + €05 0,
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8. Dalom rajah, PRT iolah garis lurus. Diberi kos o= 0.6
dan kos p = 0.4. Hitung pun]ung PRT, dalam cm.
In diagram, PRT is a straight line. Given cos a = 0.6
and cos p = 0.4. Calculate the length of PRT, in cm.

9. Cari nilai tan 6.
Find the value of tan 6.
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Dalam rajah, T ialah titik tengah bagi garis PR. Diberi
ton 6 = 2. Hitung panjang 7R.

In diagram, T is a mid-point of line PR. Given
tan 6 = % Calculate the length of TR.
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Dalam rajoh, JKL don MNK addTE dudc('l 'g?nﬂ:‘ll‘um.
Diberi tan g = 0.8, hitung panjang ML, ' .

In diagram, JKL and MNK are two straight lines. Given
tan g = 0.8, calculate the length of ML, in cm.
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Dalom rojoh, JKL ialoh goris lurus. Diberi tan
a = 22.5° dan tan b = 77°, hitung panjang JKL.

In diagram, JKL is a straight line. Given tan a = 225°
and tan b= 77°, calculate the length of JKL.
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POR ialoh sebuah segi tiga bersudut tegak. Diberi

sin 20° = 0.34, kos 20° = 0.94 dan tan 20° = 0.36.
Hitung panjang QR.

PQR is a right-angled triangle. Given sin 20° = 0.34,
cos 20° = 0.94 and tan 20° = 0.36. Calculate the length

of OR.
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JKL iclah sebuah segi
Hitung panjang JL.

_.nFL is a nght-angled triangle. Calculate the length
of JL.

tign bersudut tegak.

L
A
J x° _3"“
9cm K
A 23cm ¢ 27cm
B 2dcm D 30 cm

Mathematics Form 3



